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Hang on....  HOMEWORK!!!

Page 112
Questions:
1-7
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3.2 Build Your Skills Detaild Solutions.pdf

Worksheet ­ Simple & Compound Interest.pdf




Section 3.2 Simple and Compound Interest, Build Your Skills, p163–165 


Student Resource p112–114 


 


Build Your Skills 


 


1. a) I = Prt 


I = $2000.00 × 0.03 × 2 


I = $120.00 


b) Calculate the sum of Gerard’s principal and the interest earned. 


A = $2000.00 + $120.00 


A = $2120.00 


 


2. a) I = Prt 


$50.00 = P × 0.03 × 2 


50.00 = P × 0.06 


50.00 ÷ 0.06 = P 


P = $833.33 


b) Use the simple interest formula, with t in years. 


I = Prt 


$180.00 = $5000.00 × 0.02 × t 


180.00 = 100.00t 


180.00 ÷ 100.00 = t 


1.8 = t 


Multiply by 12 to convert years to months. 


t = 1.8 years × 12 months 


t = 21.6 months 


c) I = Prt 


$120.00 = $4000.00 × r × 3 


120.00 = 12 000.00r 


120.00 ÷ 12 000.00 = r 


0.01 = r 


1.0% = r 


 


3. a) I = Prt 


I = $1500.00 × 0.065 × 0.5 


I =$48.75 


b) Calculate Mei Lin’s total payment by adding the principal plus the interest. 


A = $1500.00 + $48.75 


A = $1548.75 


c) Divide Mei Lin’s total payment by 6 months. 


$1548.75 ÷ 6 = $258.13 


She will pay $258.13 a month. 


 


4. y = 72 ÷ r 


18 = 72 ÷ r 


18r = 72 


r = 72 ÷ 18 


r = 4 


To double your investment in 18 years, you would need an interest rate of 4% per annum. 







 


5. a) There are 4 interest periods because the loan is semi-annual, which means interest is 


calculated twice a year for 2 years. 


b) 
Interest period  Investment value at 


beginning of period ($) 


Interest earned ($) 


(I = Prt) 


Investment value at end 


of period ($) 


1  $1200.00  $1200.00 × 0.026 × 0.5 


= $15.60 


$1200.00 + $15.60 = 


$1215.60 


2  $1215.60  $1215.60 × 0.026 × 0.5 


= $15.80 


$1215.60 + $15.80 = 


$1231.40 


3  $1231.40  $1231.40 × 0.026 × 0.5 


= $16.01 


$1231.40 + $16.01 = 


$1247.41 


4  $1247.41  $1247.41 × 0.026 × 0.5 


= $16.22 


$1247.41 + $16.22 = 


$1263.63 


 


c) The value of the investment at the end of 2 years is $1263.63. 


Alternative Solution 


Part c) can also be solved using the compound interest formula. 


A      
 


 
 
  


 


             
     


 
 
     


 


A = $1263.63 


The value at the end of the investment period is $1263.63. The interest earned is $63.63. 
d) Calculate the interest earned over 2 years by subtracting the principal from the investment 


value. 


$1263.63 – $1200.00 = $63.63 


The interest earned is $63.63. 


 


6. a)       
 


 
 
  


 


             
      


 
       


A   $2325.00 


I = A – P 


I = $2325.00 – $2000.00 


I = $325.00 


b)        
 


 
    


             
      


 
       


A   $1621.27 


I = A – P 


I = $1621.27 – $1500.00 


I = $121.27 


c)        
 


 
    


             
      


   
        


A   $6269.64 







I = A – P 


I = $6269.64 – $6000.00 


I = $269.64 


d)        
 


 
    


             
     


  
     


 
  


 
 


A   $3570.69 


I = A – P 


I = $3570.69 – $3560.00 


I = $10.69 


 


7. Option 1: 


       
 


 
    


             
     


 
   


A   $2601.00 


Option 2: 


       
 


 
    


             
     


 
       


A   $2601.00 


$2601.51 – $2601.00 = $0.51 


The second option is the better investment by $0.51. 


 


Extend Your Thinking 


 


8. a) Answers will vary. Sample solutions are for a typical interest rate of 3.00% per annum, 


compounded semi-annually with a principal of $4 000 000.00. 


i)        
 


 
    


                  
    


 
       


A   $4 120 900.00 


I = A – P 


I = $4 120 900.00 – $4 000 000.00 


I = $120 900.00 


ii)        
 


 
    


                  
    


 
    


 
  


 
 


A   $4 009 938.07 


I = A – P 


I = $4 009 938.07 – $4 000 000.00 


I = $9938.07 


iii)        
 


 
    


                  
    


 
    


 
   


 
 







A   $4 000 326.34 


I = A – P 


I = $4 000 326.34 – $4 000 000.00 


I = $326.34 


b) i)        
 


 
    


                  
    


 
       


A   $4 161 600.00 


I = A – P 


I = $4 161 600.00 – $4 000 000.00 


I = $161 600.00 


Calculate the change from part a). 


$161 600.00 – $120 900.00 = $40 700.00 


ii)        
 


 
    


                  
    


 
    


 
  


 
 


A   $4 013 223.56 


I = A – P 


I = $4 013 223.56 – $4 000 000.00 


I = $13 223.56 


Calculate the change from part a). 


$13 223.56 – $9938.07 = $3285.49 


iii) 


A       
 


 
    


                  
    


 
    


 
   


 
 


A   $4 000 434.05 


I = A – P 


I = $4 000 434.05 – $4 000 000.00 


I = $434.05 


Calculate the change from part a). 


$434.05 – $326.34 = $107.71 


c) Change compound period to monthly. 


A       
 


 
    


                  
    


  
        


A   $4 121 663.83 


I = A – P 


I = $4 121 663.83 – $4 000 000.00 


I = $121 663.83 


If the interest is compounded more frequently, the amount of interest earned increases. 


d) Increasing the rate by 1.00% increases the interest for 1 year from $120 900.00 to $161 


600.00, a difference of $40 700.00. 


Increasing the compound period to monthly increases the interest for 1 year from $120 


900.00 to $121 663.88, a difference of $763.88. 


Increasing the interest rate has the largest effect on interest. 
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